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QUESTION 1

Your application makes use of functions. 

Which benefit can be gained by organizing those functions into a ColdFusion component? 

A. faster execution 

B. shared variables scope 

C. code reuse 

D. access to application variables 

Correct Answer: C 

 

QUESTION 2

You need to create an XML document inside your application from data in a query. Which function creates an XML
document? 

A. xmlNew() 

B. xmlParse() 

C. xmlElemNew() 

D. toXml() 

Correct Answer: A 

 

QUESTION 3

You want to create an instance of the component Part, then access the property partID by using the following code: 

 

 

Which component syntax should you use? 

A.  

B. component { var partID = 0; } 

C. component { local.partID = 0; } 

D. component { this.partID = 0; } 

Correct Answer: D 
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QUESTION 4

You have dynamically generated PDF files using . Customers complain that the PDF files are very large, resulting in
long download times. Which two invocations of can you use to reduce the size of your PDF files? (Choose two.) 

A.  

B.  

C.  

D.  

E.  

Correct Answer: AB 

 

QUESTION 5

Your application accesses a table named users to retrieve data. The users table has three columns: id of type int, name
of type string, and email of type string. Which SQL statement retrieves the user with an ID value of 3? 

A. SELECT * FROM users WHERE id = \\'3\\' 

B. SELECT * FROM users WHERE ids = 3 

C. SELECT * FROM users WHERE id = 3 

D. SELECT * FROM users WHICH id = 3 

Correct Answer: C 

9A0-127 PDF Dumps 9A0-127 Exam Questions 9A0-127 Braindumps

Powered by TCPDF (www.tcpdf.org)

9A0-127 PDF Dumps | 9A0-127 Exam Questions | 9A0-127 Braindumps                                3 / 3

https://www.geekcert.com/9a0-127.html
https://www.geekcert.com/9a0-127.html
https://www.geekcert.com/9a0-127.html
http://www.tcpdf.org
https://www.geekcert.com/9a0-127.html
https://www.geekcert.com/9a0-127.html
https://www.geekcert.com/9a0-127.html

